1.

M2573 04

rauch

\.7 .
]

¢ &

=% RO
\

¢

ez \ = \
\gRbems ‘B er

M2573

uoul

M2573




SE010 -

Y

" [Rwo10]

- |RW010 u

" |Rwo10]

SE020 |-




6X

55x16x6,2

2X
M5
W=

? @Yﬁ

12X
(45) D" 2

8x30

O —
8X

6,3x50 8X

A
@) g o)y
Ox 6X 8X

M4 6,5x12 4x15
(580) & (@79 WY [(Bon) T
x 1X . 2X

A

2X 1X
Jas e
2X 2X

M5x12
i

s

MMMMM

MMMMM




0

BOO010

8x30

4dx O =

- SO010
L\
A

S0020

O BOO010 O

—
7

M2573

M2573




10.

6,3x50
€
C) 2X "@@@@@@@@@@W

9.
— —
3,5x15 ; ]
4X @ g 1x1x =D
SE010 SE020
A S
/ : 1166 \\
[ -
S e @\\ 205 1165 /
: : : @//(@[C(C@ :

SE010

s
BT MAANY
‘)ﬂ 233

SEO010

M2573

M2573




11.

1x®

6,5x12

1X @«

RWO010

4X 6D Ty

779

MMMMM

@ 807




1X@

14.

RWO010

MMMMM

X7 1x @@ w0 = ®
1
MSO']ﬁO %
,'/ RWO010
7

| MS010
T

RWO010

@

MMMMM




15.

1X@

6,5x12

1X @ @

16.

RWO010

MS010

1x @7 1% @

MMMMM

i

RWO010|

MMMMM




6,3x50
@
@ 2X '@@@@@@@@@(«.( (— )

BO020

SE010 H
2.
Paro =
233 SE010 ;




19.

6,3x50

«
4x @ g

SE020

MMMMM

20.
1x o7 1x @ = ®
RWO010
SEO020

MMMMM




21.

296

M4x12

Ox @ =0

M2573

M2573







0

"‘/‘
IS

2 X () g«-,

M5x12

ALED

4x15
2X

M2573

BO020

M2573




3,5x15

@) |9x @ = ® ® |y i

|
: BOO10 o S
205 ] - L L =

| _—~50010

Meers | as73



29.

30.

SE020

271

M2573

M2573




1.

M2667_02

66666

66666




4x 8-12x

Ax45
@ @ g
4-6
-OX[= 342x27x10 4-6x
7 /” —80 0= _ M4x9
SIS

(568) =3

\\\ /

[

| SK010| = | SK020 | = | SK030 |

M2667 I M2667



@ 4-6x @4

1396

00000 « OO o © < 6) O ‘
@ 227
1396
‘ o @@ o Q< O 6) [0Q00000 i
2. @227

M2667 I M2667



® 4-6x @

1.

1396
‘ O o) = ® o OO0 - 000090
227 @)
1396
L ooocopo| () D) o) o @ o ‘

21@) 2.

M2667 I M2667



4x45

4x @

10.

‘-fs@@@@@@@@
— @@@@@@@@@

4X @
o Typ 1
L

BO010

M2667

807

807

M2667




12.

1.

M4x9

4-6X G» =0

Typ 1

[u=i1]

g

SE020

=

g

M2667

M2667



13. I 14.

M2667 I M2667



1.

M9988_03

’,.—\ !,—a
i= @ OR

i e

>

72x15%x2

M9988

M9988

M9988




5. BB 6.

3,5x15

@ 2X @) = =2 @ ©) 1xi§f<f1x@%

BN
VIDEO [1]

N

il 857': =

]

' 1 .

* ~

3 s

857 — 1/2

205 9 |

205

Mo9ss —
! 8.

Olizxes 3xe e =2 |@ ey

I
[
S
S
S

&
o=

&

-

205

i

v |857

&

-y

205

'
205

i~/ 05 -TUOZO

N

M9988 —



10.

3,5x15

4X @3 <y

6,3x14

4X @ g

%
VIDEO [=] c

&)
vlliiii;;;\“\

eeeee




A

14.
3,5x15 @
2X @ g e L
d
wneoEi
—_—
1
[ ]

GL010

B 1286 TU0s0
1 u‘{} 2
' ' 205
——
ks
+
X |t @ ¢
IX @« |IX @&  —= = 13X @ wg |3X @&  ——= = Y
) - —
N /\ [
857 | = / . \——
j &
- .
o
N K
205 - .
4 205 ‘_
@“
s
TS TU050
=
©
205
1 — -
857 172 5
) — 1/2
205
-
205

M9988

M9988




0 |8y @ = =2 | ® gy
—
.4
-
2.
GL010
TUO50 »
’
)

99999

19.

6,3x14

4X @ wg |4X Gy | 2X (@) <=

11777 F1186
1. (0 Ho— 1. b
| @I\FML gt
.
R B VAN
TUO050
\
\

=

o . ] e ]\ \
% .
o 74 .

1177T F
¥,

&




21.

2X @ =&
@
ok
1.
PR0O10 :
TUO10 PR

205

M9988

M4x6
2X @8 «
=]

22.
1X @

2 1180

M9988

24

205

857 |

1X @ s |1X i = ®

112

12

857

Ny
oF)
S

T 12

112

M9988



® 26.

13X @ s |3X S @ 8X @ g = |=e D

@

T A

X %
X

.
E /

205 ‘v s -
~ :

205 N° & B T

205

S

<>

58
_|
c
o
o

GLO10 \ﬂ\
TU090 n * '
0

M9988
28.
3,5x15 6,3x14
4X @ wg |4X @ g

Mogss 4L —



29.

30.

M9988

32.

144 \\>
\\
I GLO10
\\
\\
w1 ] t
= J—
@ 144
\
N&\;
\\
\
\\
\
\\
\
]\
\
\\1.

M9988




34.

33.

1155
1156
1158

177

1186
3

\)

M9988

M9988



M110_04 Dlox @ 2x @ (B =8

S— 10min = K o :
b _ U »&‘ ‘ . 3 T
, ef.a‘ 2 \
ex? . N
e ? 8
279 l
XXXX
Xmm )
XXxx

. X 505 | Gone

Xmm

393mm | max. 40kg |(2000

426mm | max. 40kg

538mm | max. 40kg

563mm | max. 40kg 2002

\\\ /

Cie

650mm | max. 40kg 2003

xxxx = 2000, 2001,
809mm max. 40kg 2004 2002. 2003

873mm | max. 40kg | (2006 2004, 2006,
2008, 2010,
890mm | max. 40kg 2011,

N N N
o
o N =

1097mm | max. 40kg 2008

MZ110 I MZ110



MZ113_04 D | 4x T

=
® ©
\ C

o

==

o L= =] o

10min = 4 T : T
' A i o
Y, %&2}’5 @ 1105

L LB TR 907 | oo

Xmm Ymm Zmm

241mm | 480mm | 16mm | max. 10kg

432mm | 480mm | 16mm | max. 10kg 2142

544mm | 480mm | 22mm | max. 25kg

656mm | 480mm | 16mm | max. 10kg 2144

880mm | 480mm | 16mm | max. 10kg 2146

N N
= =
o (@) ]
(0] -

1104mm | 480mm | 22mm | max. 25kg 2148

1. 1105

MZ113 I MZ113



1.

MZ171 03

rauch

R

{@ @

(
—

{:3‘.\‘ i ‘l‘\

\g@ies
Typ 1
0,5h :
V 4
Typ 2
Typ 3
\\§4

6,3x16

MZ171

Typ 3

1168

1

MZ171




\

g
@ 2x

Typ 1

6,3x16

AX G g | e

MZ171

——
"’
2X E

MZ171




1280

6,3x16

2X (9D @

=

MZ171

Typ 3

=
1X @ e

\

MZ171




MZ171 I MZ171



1 b 2

MZ172 02

’,——\
®

i@
A
Vo ¥

SR s

4x 2X 1x

4x15 M4x6 \ “
1x = g

Mz172 | MZ172



3 b 4

IX G === = @ 4x

Mz172 | MzZ172



MZ172

Mz172



1.

MZ222 01

rauch

5min

\.l

=

\@@
d 3
A

SR Bemp

DK010_A

DK010_B

22222

22222




